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General Instructions :

All questions are compulsory.

The question paper consists of 34 questions divided into four sections A, B, C and D.
Section - A comprises of 10 questions of 1 mark each, Section - B comprises of 8 questions of
2 marks each, Section - C comprises of 10 questions of 3 marks each and Section - D comprises
of 6 questions of 4 marks each.

Question numbers 1 to 10 in Section - A are multiple choice questions where you are to select
one correct option out of the given four.

There is no overall choice. However, internal choice has been provided in 1 question of two
marks, 3 questions of three marks each and 2 questions of four marks each. You have to
attempt only one of the alternatives in all such questions.

Use of calculator is not permitted.

An additional 15 minutes time has been allotted to read this question paper only.
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SECTION-“A’

Question numbers 1 to 10 carry 1 mark each.
1
The coefficient of x2 in (3x + x3) [x + ;] is :

(A) 3 B) 1 © 4

What is remainder when x3—2x2+x+1 is divided by (x—1) ?
(A) 0 B) -1 © 1

Degree of which of the following polynomial is zero ?

(A) x (B) 15 ©Q v

In figure 1, ZPQR is :

Figure 1
(A) 40° (B) 50° (€ 30°
A triangle can have :

(A) Two right angles (B) Two obtuse angles
(C) All angles more than 60° (D) Two acute angles

In figure 2, value of x is :

940121 - B2




If length of the largest side of a triangle is 12 cm then other two sides of triangle can be :
(A) 48cm,82cm (B) 32cm,78cm (C) 64cm,28cm (D) 7.6 cm, 3.4 cm

In AABC, if AB > BC then :
(A) ZC< ZA (B) «4£C=ZA (C) ZC>ZA (D) ZA=/B

An exterior angle of a triangle is 80° and the interior opposite angles are in the ratio 1 : 3.
Measure of each interior opposite angle is :
(A) 30°, 90° (B) 40°, 120° (C) 20° 60° (D) 30°, 60°

1 1
Simplified value of (25)/3 X 5% is :

(
(A) 25 (B) 3 Q) 1

SECTION - ‘B’

Question numbers 11 to 18 carry 2 marks each.
In a AABC, if AB=AC, ZA=100° then find ZB and ZC.

In figure 3, find the value of ZQRP when QP|[TR.
P

64°

67°

R
Figure 3

In figure 4, if AABC and AABD are equilateral then find the co-ordinates of points C and D.
y

C

D

Yy
Figure 4
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Factorize : (12x2—7x+1).

xa(b—c) b)°
Show that m+ x_a] =1,

13
If x =2 — /3, then find the value of |x -

OR

1 1
. . .. +
Find the simplified value of 5_203 @ 5+203

If the angles of a triangle are in the ratio 1 : 2 : 3 then find the measure of angles.

Prove that each angle of an equilateral angle is 60°.

SECTION -‘C’

Question numbers 19 to 28 carry 3 marks each.

1 1
+ =—1+4++3
Show that 1+ 0 >+ 3 .

OR

V2 -1

m = a + by/3 then find the value of a and b.

If

Using suitable identity evaluate (—32)3+ (18)3 + (14)3.
OR
Simplify : (@a+b+c)?+(@—b+c)?+(a+b—c)2

In AABC, £B=35° £C=65° and bisector of ZA meets BC at a point D. Find ZADB and
/ ADC.
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22. Infigure 5, prove that I || m.

!

Figure 5

OR
In figure 6, prove that AB||EF.

D
Figure 6

1
If x =5 — 26 then find the value of X+ — -
x

If a+b?+c?>=30 and a+b+c=10 then find the value of ab+bc+ca.
Factorize : 64a% —27b%— 144a°b + 108ab?.
The sides of a triangle are in the ratio 3 : 5: 7 and it’s perimeter is 300 m. Find its area.

Plot the points A (6, 6), B (4, 4), C (=1, —1) in the cartesian plane and show that the points
are collinear.

Prove that if two lines intersect, the vertically opposite angles are equal.
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SECTION - ‘D’
Question numbers 29 to 34 carry 4 marks each.
Find the values of a and b so that (x+1) and (x—2) are factors of (x>+ax2+2x+Db).
OR
Factorize : x0—729.

1 1 1 1
Simplify : + + + .
MY B B+v6  J6+7 7 +B

Factorize : x3—3x2—9x—5.

In an isosceles triangle ABC with AB=AC the bisector of ZB and ZC intersect each other
at O. Join A to O. Show that :

(i) OB=0C (i) AO bisects LA

In figure 7, the side QR of APQR is produced to a point S. If the bisectors of ZPQR and

1
ZPRS meet at T, then prove that ZQTR = EZQPR .

P T

R
Figure 7

Show that perimeter of triangle is greater than the sum of its medians.
OR
In APQR, S is any point in its interior, show that SQ+SR < PQ +PR.

-00o0-
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(C) 60° (D) 70°

Ife Tk IS it TaQ Tell ST I oaE 12 A.H. B A 3= T el Hi Ao o Tkl ¢
(A) 4.8 9., 8.2 & (B) 3.29.4, 7.8 &.H.
(C) 6.4 %, 2.8 9. (D) 7.6 9.4, 3.4 9.H.

AABCH, afc AB>BC @& o :
(A) £ZC< LA (B) ZC=/LA (C) £ZC> LA (D) ZA=/B

T 39S 1 Sfeshivr 80° T 37d: W@ HIvl 1 U 1: 3 ¥ 1 37q: THW RV ! 0T T :
(A) 30°, 90° (B) 40°, 120° Q) 20°, 60° (D) 30°, 60°

(25)/3 x (53 %1 Wi A # -

(A) 25 (B) 3

Qus-d
Y99 HE&AT 11 ¥ 18 Tk Ueleh U9 2 3{ehi &t B
11. T& fYs ABCH, afc AB=AC T L A=100° T d LB AL £ C 1 A AA HITST |

12. aq@ﬁr-ﬁl’swﬁq'QPHTR%ﬁﬁ / QRP 1 | [ il |

64° T
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13. 3Tpfa - 4 §, afg AABC d9 AABD §Hag T3y & i foig C aen D % s 9 shifs |
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1 1
+
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Lus-H
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afg x =5-26 A« +izawrrrﬁamﬁﬁnz|
X

e a2+ b2+2=30TMa+b+c=10 7 T ab+bc+ca & HH J1d HifoT |
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HTa - 7 H, APQR F1 o1 QR FI fog S T wern 71 €1 afe L PQR iR £ PRS & HHIGHIH
fog TR fiemd €, @1 fag =ifve ff ZQTR = %AQPR.

P T

R
STHfA-7

fag wifee & B &1 afmm fe *1 wfeasett & 9m 4 eifues g §)
areran
T IS PQR % &id: 9 ¥ U fag S®1 fog #INT % : SQ+SR < PQ+PR.
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